66630 :# DNIMVIA 740 1 99Vd $0/1/9 “ALVA

AT19N3SSY HOLOW ¥3dd3aLS a-$$95-D NOISIAHY
-MHAIA dHAOTdXH

(‘43y)
INHY HO134Ngyvo

9l

'
\W
|
\%
|
L
"'NMOHS SV dvHM 311 HLIM

SS3ANHVH 3HIM 3HNO3S gL

\,
\

N\

SSINYYH JHIM |

d
14

ONILYOD
INIHdOAN (E1) W3 LI

d dNodYo



EXPLODED VIEW: STEPPER MOTOR ASSEMBLY

DRAWING #: 0E9979

APPLICABLE TO: 2.5L FORD

ITEM PART # QTY. DESCRIPTION
1 098290 1 ASM MOTOR STEPPER
2 098941A 1 HOUSING GOVERNOR CONNECTOR
3 0F0454 REF HARN GOV 2.5L FORD
4 098942A 1 COVER CONNECTOR HOUSING
5 098225 2 SCREW PFHST #2 X 5/8
6 043146 3 SCREW HHC M6-1.0 X 10 G8.8
7 022097 5 WASHER LOCK M6-1/4
8 OE7358 REF SCREW PPPH HI-LO #4-24 X 3/8
9 098783 1 LEVER STEPPER MOTOR
10 037398 2 NUT LOCK HEX #10-32 NYL INS
1 0E1326 1 ASSY. CARBURETOR LINKAGE ROD
12 0A7106 1 BRACKET STEPPER MOTOR
13 074031 AR LIQUID NEOPRENE
14 029333A 1 TIE WRAP 7.4"X.19" BLK UL
15 022507 2 SCREW HHC 1/4-20 X 1/2 G5
16 022473 5 WASHER FLAT 1/4 ZINC
17 064526 1 SCREW TAP HWH #6-25 X 3/8 ZINC
18 0E1694 1 SPRING,ANTI LASH

REVISION: G-5555-D

DATE: 6/1/05

GROUP D

PAGE2OF 2



